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REGISTRATION NUMBER : 8007048425
EXAM DATE : 6-September-2016

EXAM NAME : SSC Examination 2016
TOTAL MARKS : 200

Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Forecast : Future :: Regret : ?

T HIeT AT : ST 2 W e el : ?
Options:

1) Present

FAAT

2) Sins

q1q

3) Life

St

4) Past

e

Correct Answer: Past

T

Candidate Answer: Sins
qq

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)

DCEF : QPRS :: XWYZ : ?
Options:
1) SRQP
2) NMOP
3) STOV
4) IMGF
Correct Answer: NMOP

Candidate Answer: NMOP

Question 3.Select the related word/letters/numbers from the given alternatives:

& 7 famont 7 & Hafeerd eree)sarl/aear & gfav

121:12::25:7?
Options:

1)5

2)6

3)7

4)8

Correct Answer: 6
Candidate Answer: 6

Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATAf@d veat # fow 1w faehenl & & fawe erse)/ 3rar/aedm i AT ?
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Options:

1) Potato

3oL

2) Tomato

CHIY

3) Ginger

Al

4) Carrot

MY

Correct Answer: Tomato
CHIY

Candidate Answer: Tomato
CHIY

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

TFATAR@T et # 2T 10 faemedl & & Tawey eree/ 31ar/Eean i =T ?

Options:
1) ACEG
2) KMNP
3) HILN
4) TVXZ

Correct Answer: KMNP
Candidate Answer: KMNP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATaf@d veat # fow 1w faehenl & & fawe erse)/ 3rar/aedm i giav ?
Options:

1) 63-36

2) 45-74

3) 48-84

4) 26-62

Correct Answer: 45-74

Candidate Answer: 45-74

Question 7.Arrange the following words as per order in the dictionary
TAF=ATIEIT 2se] 3T AeehI F T 1T e & AR fAfEw ?

1, Tortoise 2. Torrid 3. Torso 4.Torque 5. Tortuous
Options:

1)4,2,3,1,5

2)3,2,4,1,5

3)2,3,45,1

4)4,3,2,1,5

Correct Answer: 4,2,3,1,5

Candidate Answer: 4,2,3,1,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
AFATRIT geat & T Jiegshat fem 1T B, fHaal Ueh 9 et &1 U 10 fashedt & & ag Y fashed AT St 3egshad I QU ?

PMT, 00S, NQR, MSQ, ?



Options:

1) LVR

2) LVP

3) LwWP

4) LUP

Correct Answer: LUP

Candidate Answer: LUP

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TAFATIRIT aeat & T Jiegshat fom 1T B, FHaal Ueh 9 et &1 RV 10 fashedt & & ag @Y fached AT St 3egshad I QU ?

206, 309, 412, ?, 618, 721
Options:

1) 751

2) 749

3) 515

4) 514

Correct Answer: 515
Candidate Answer: 515

Question 10.Pointing Rajesh in the photograph, Sunita said,' The only son of his mother is my father'. How is Sunita related to Rajesh?

IS 3 ISIRT T AT FART FHIA §U FoATCT o g, " TR A &1 Teh A T A T &1 Felielr b Torer & 1 Haier & 2
Options:

1) Niece

HAST

2) Aunt

ardr

3) Mother

AT

4) Daughter

CEl

=l
Correct Answer: Daughter

LEl

Candidate Answer: Daughter
LEl

)

Question 11.A, B, C, D and E are standing in a line facing North. E is standing 40 metres left to B. A is standing 20 metres left to C. D is standing 20 metres right to E
and 50 metres right to C. Where is B standing from D?

A,B,C ,D3IR E Ua G # 3car &1 30 75 otk @3 §1 E, B & T 31X 40 Arey A gl )W @121 A, C & arRfT 301X 20 Hiet Y g X @sT 81 D, E o gl 317 20 Frex
8 I 3R C & gt 31 50 #ex i g T WsT 1 B, D & forcielt oy 31K Frem @ 2
Options:

1) 20 metres right

20 #reX grRft 3%

2) 30 metres right

30 #rex gRft 3R

3) 40 metres right

40 Hiex ERiT AR

4) 40 metres left

40 #rex FRft 3R

Correct Answer: 20 metres right

20 #rex grft 3tk

Candidate Answer: 20 metres right
20 A grRft 3R

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
TArAfaf@d fashed & & a8 2ree AT it few 31T Arse; & 3R T TAWT Feh 161 =TT S Fehell ?

COMFORTABLE

Options:

1) FORT

2) TABLE

3) COMFORT
4) ROUTE

Correct Answer: ROUTE
Candidate Answer: ROUTE

Question 13.If A =1, AND = 19, then ANT =?

I A =1, AND = 19 &I, aF ANT fhash sRTeR grem ?



Options:

1) 35

2)33

3)23

4) 19

Correct Answer: 35
Candidate Answer: 35

Question 14.If + means + , + means - , - means x and x means + , what will be the value of the following expression:
Ife '+ FT AT +, '+ FT ATAS -, '-' T Aol x 3N X' FT FAAS + &I, AY 8T 3T YA F7 HIeT AT ?

8+4+3x5-9=7?
Options:

1) 44

2)53

3) 62

4) 64

Correct Answer: 44
Candidate Answer: 44

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

FT FHRIOT Ueh AR JOTel & ef fohw 1T & 3 3MUR 0X 18T 917 fashed] & & TET 3ok oo ff@e 2

8x5x0=805,7x4x6=764,6x8x9="7?
Options:

1) 689

2) 698

3) 968

4) 986

Correct Answer: 698

Candidate Answer: 698

Question 16.Select the missing numbers from the given alternatives

fu 1w fashedt & & o 37 e i ?
12 8 4
8 4 12
4 12 8
100 a9 ?
Options:
1) 56
2) 48
3)38
4) 36

Correct Answer: 56
Candidate Answer: 56

Question 17.Anitha walked 20 km towards north. Then she turned right and walked 30km. Then she turned right and travelled 35 km. Then she moved left and
walked 15 km. Finally she turned left and walked 15 km. In which direction was she from the starting point?

3T 20 fralidiet 3eav & 3T =l R a8 afe Hga 30 Freidiey el i & g aft Hgat 35 fheldieT =<l B a8 afv 781 3 15 fFaldiet =@l ag IR v
TFTfRrHE ?

Options:
1) South

Correct Answer: East
kGl
Candidate Answer: East

9§

kN



Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. No man is a Monkey. 2. Hari is @ man.
Conclusions: I. Hari is not a Monkey. II. All men are not Hari.

eAfAf@T weaT & te a1 e aeded A T &, foraes 3T & Asad/AmIand, 1 3R I [Rerrer 713y & 319! AT § T defded O & 9 98 AHead: g J92at & e
gclia 8T @Y1 3ueh! [T e & o foU 910 aerdey & & fiawar RRET &9 & T S /AT dT el ST Gehar & ?

TFAST : 1. FIS ICH Tec 78T &
2. 8RR 3 g1
forsed : 1. gR et 78T B

I1.@9 3mmesr g e &

Options:

1) Only conclusion I follows

ool vy I TE 8

2) Only conclusion II follows

oo fasHy 11 T8

3) Both conclusion I and conclusion II follow
sy 1 3R 11 =t wdY €1

4) Neither conclusion I nor conclusion II follows

AT Y s I wgY & 3 o1 & orsed 1T & 81

Correct Answer: Only conclusion I follows

Fad sy I T8 T

Candidate Answer: Only conclusion I follows

Faer sy I a8 ¥

Question 19.Four positions of a cube are shown in the diagram. Which color is opposite to Green color in the given cubes?

AR TR & T Tt 7 IR eyt el a8 §| e 71w o=t & g 791 & gy Rla-ar e g ?

T kin\':-
in g
-

Options:
1) Blue
e

2) Yellow
drer

3) Orange
ARE

4) White
e,

Correct Answer: Orange

AT

Candidate Answer: Orange

AT

Question 20.Which of the following figures correctly represents the relations between: Doctors, Lawyers, Professionals

TE HFHTT TABT A AT AT & ey T Foareey 1 Rl §1
starel, gehrell, saawAt



Q@

)
=

0

e

]
Q@
>

2

: O
o

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

FIT-ET Seck 3Tt T MFIA F FTeT (IeeT) o i ?

oL

i
N




Options:

1)

f !
2)
3)

2
4)

Correct Answer:
f !
Candidate Answer:
b/.} |

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 1 Seal JTHTAT H A 38 3ea¥ i 1 IfAw forws ye anpfa Afea &2




Options:

1)
i
N
2)
3) /
B2

it H |
4) /
Correct Answer:
Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I R FmaTer 1 71 FamTT 1ot & 3TTAR HISH SieT ST o Tielet & 16 a8 e Sea¥ il srar fewng o ?




Options:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I weh gUoT T MN YW1 IR T@T ST 6t & 31§ Seak Hepferdl 3 F slaa-ar 3mepfar sreat 3mepfer o @ sy g 2

o R Y A T




Options:
1)

2)

3)

Correct Answer:

Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'U' can be represented by 01, 12, etc., and 'L' can
be represented by 56, 67, etc. Similarly you have to identify the set for the word 'SPARE'

Trafofa weet & Rsedt 7 fow aTv Hear-wag, 3BRT & & 391t ganT &=ife o7v §, SR 3 ey few arw & smeggh # €1 smegg [ & wawer iR dfaa M aem o 4 aw &
TS §, 3N IMSIE 11 & 58 9 e, 3T ITCTET ¥ Ueh 38R I Tgel 3T U 31T A1G 7 TA#97 TEAT GIRT ST ST FeeT § 1 3ET6X0T & forw, U 1 01, 12, 3fE @ giar
ST HeRdT § AT L F 56, 67,3711 g@RT arifar 517 &l §1 38 g & 37T AT 2eg; 'SPARE' & foIT Hog &1 GgmetetT 81

WM = O

o m| @™ |||
o ||| m| w
W m|~| o

- 2|06 |w
20|60 |3
Z2|0|0|rr| 2|~
Q|G| || 2|00
G| r || 2|0|w

CcC|lTm m| o|wn| o

m(=D | | ||~

vi|c|m | m| @ &




Options:

1) 22, 41, 85, 32, 14

2) 12, 24,21, 68, 14

3) 44, 78, 67, 32, 42

4) 33, 30, 43, 40,43

Correct Answer: 22, 41, 85, 32, 14
Candidate Answer: 22, 41, 85, 32, 14

Question 26.Golden Hand Shake scheme is the name of

"IMeseT £0s AF" FAfafd 7 g At &t v 3R A 82
Options:

1) Retirement Scheme

Qarfeiged st

2) Voluntary Retirement Scheme

wifcos Aariaged Freier

3) One Rank One Pension Scheme

T & T T Fiatar

4) Private Sector Retirement Scheme

gTgde ke fafaged At

Correct Answer: Voluntary Retirement Scheme
wfeos darfaged D=1

Candidate Answer: Private Sector Retirement Scheme

grgae JereX Halieiged Frotall

Question 27.Indian Constitution can be amended according to the procedure laid down in the following Article

ﬁmﬁ@aﬁﬁmsﬁmﬁméﬁmwmﬁmm%mmwﬁ?
Options:

1) Article 368

3T 368

2) Article 345

3]0 345

3) Article 351

3e7edG 351

4) Article 333

3eede 333

Correct Answer: Article 368
eI 368

Candidate Answer: Article 351
3e7edG 351

Question 28.Who is the Vice Chairperson of NITI Aayog ?

A 3T T FUTETET Rl &
Options:

1) Dr. Bibek Debroy

3. foes e

2) Dr. V.K. Saraswat

1. d.F. aREad

3) Dr. Arvind Panagariya
3R gaeTfzar

4) Arun Jaitley

3EOT Scel

Correct Answer: Dr. Arvind Panagariya
33RfAE gerTfzar
Candidate Answer: Dr. Arvind Panagariya

3BRAE gefzar
Question 29.The city of Vijayanagar is also known as

eI 2R 3R foFe 1o & ST ST B

Options:

1) Halebidu
geifag

2) Chandragiri
3) Hampi
il

4) Kondavidu

EREAIE



Correct Answer: Hampi
Eall

Candidate Answer: Chandragiri
TGk

Question 30.Which of the following Sultans of Tughlaq dynasty issued copper coins instead of silver ones?

Trfofla ereehr Ustaer & for FordTat o =iidr & ol & T W diS & s Tomw 2
Options:

1) Ghiyasuddin Tughlag

TARGA ITelh

2) Muhammad bin Tughlaq

AgFC, 9T oot

3) Firoz Shah Tughlag

TRIST g Jarerh

4) Mahmud Tughlag

HEHE T

Correct Answer: Muhammad bin Tughlaq
fere [ et

Candidate Answer: Muhammad bin Tughlag
fere et et

Question 31.Which of the following areas or regions is most prone to earthquakes?

Rrfof@d 7 & Flerar & Tar § STt u% 97T 3T S HenaeT F & HfRw §?
Options:

1) Deccan Plateau

ZT&Y0T (GeFheT) T TR

2) Ganga-Brahmaputra Valley

TIT-SEHAYS T

3) Plains of northern India

Scall IR T Heg=iT &

4) Western Ghats

e a e

Correct Answer: Ganga-Brahmaputra Valley
IT-SEAY T

Candidate Answer: Plains of northern India
3cddl R T Herir &

Question 32.Honey that has high concentration of sugar does not decay because

g, Torae At T 3T Flegal I1S STl §, T 18T & F/ifh

Options:

1) Bacteria cannot survive in an active state as it is totally deprived of oxygen

g H AT T I Tgell § 3el: SaTI] Floh 31aedT & Shfae =781 3§ a1l

2) It contains natural antioxidant that prevents bacterial attack

g rpfareh Twdsifarase gl § St SNaTo] & JTshavT &t Uk &t &

3) Bacteria cannot survive in an active state in a solution of high osmotic strength as water is drawn out
T RO FAd & wiel & TTelt f¥shel STt & HROT Saro] | sraer 7 Shfad w1¢ & ur

4) None of these

1S faaeT g 781 §

Correct Answer: Bacteria cannot survive in an active state in a solution of high osmotic strength as water is drawn out

Fod Aol T & dier & 9Tl fehel S & ot Sharo] |fshr e # shfaa 781 & urd

Candidate Answer: It contains natural antioxidant that prevents bacterial attack

ST UTepfcieh TEIHTTREST glct § St SaTo] 3 JATehao il Ik o §

Question 33.At low temperature, Lead behaves as a :

A JITIAMET W A AeAfafad fhe &7 7 9dTa a1 8?
Options:

1) Semi conductor

3 ATelh

2) Super conductor

G ATelh

3) Insulator

e Aereh (Jerhre)

4) Conductor

el

Correct Answer: Super conductor
S TATeTR



Candidate Answer: Insulator

TaeLeT Aereh (Jerehre)
Question 34.In networks, a small message used to pass between one station to another is known as

Aead # AfRTed TR, S T TR H GELT TR I AT &, FT Fgollll § ?
Options:

1) Token

Tl

2) Byte

qBT

3) Word

a5

4) Ring

T

Correct Answer: Token
Tl

Candidate Answer: Token
et

Question 35.Which of the following is a natural polymer?

Frfof@a & @ wila a1 v vl aifoew g ?
Options:

1) Bakelite

SHTST

2) Nylon

AT

3) Polythene

grenefeT

4) Starch

T

Correct Answer: Starch
T

Candidate Answer: Starch
T

Question 36.Which of the following mammals lay eggs?

AT 7 W HlT T TITURY SeTaR 37 T ?
Options:

1) Bat

YHIGS

2) Whale

gl

3) Weasel

Adel

4) Platypus

e

Correct Answer: Platypus
craer:]

Candidate Answer: Bat
THICS

Question 37.Akbar's tomb is located at which of the following places?

31hER T FhaRT AFATNEd fohd 21T R & § ?
Options:

1) Sikandara

[RiETesy

2) Agra

3TIRT

3) Fatehpursikri

BRI

4) Allahabad

ERIGEICY

Correct Answer: Sikandara

[RiETesy

Candidate Answer: [ NOT ANSWERED ]



Question 38.Pt. Bhimsen Joshi is associated with which of the following fields?

e feeeT SRl Aefarad # & fohe 87 8 I T@d 82
Options:

1) Literature

A

2) Social services

A dara

3) Classical music

T W

4) Politics

T

Correct Answer: Classical music

AT Tl
Candidate Answer: Literature

ke

Question 39.Security Council of the UN comprises of 10 non-permanent members and their tenure is

TG ISE T GRET TRe & 10 IR He it i riehter fehelal giam & ?
Options:

1) 5 years

59y

2) 4 years

499

3) 3 years

3a¥

4) 2 years

29y

Correct Answer: 2 years
29y

Candidate Answer: 2 years

29Y

Question 40.'Tripitakas' are sacred books of

'Rftes e 7oy Fr ey g et a g ?
Options:

1) Hindus

?)_Jgains

ST

3) Parsis

qREr

4) Buddhists

g

Correct Answer: Buddhists
sig

Candidate Answer: Jains
ST

Question 41.If a country devalues its currency, its

T IS S 379l HeT FT 3T HT & o

Options:

1) Exports become cheaper and imports become costlier

T TEAT AT JATATT FEI Y ST &

2) Exports become costlier and imports become cheaper.

faTe FEIT AT ITATT T & ST §

3) Exports value is equivalent to imports value

T 3o AT Fe & SR &1 el &

4) No effect on exports and imports

T a2 3T X IS I AST IST

Correct Answer: Exports become cheaper and imports become costlier
TR TEAT AT AT FEI &Y ST &

Candidate Answer: Exports become cheaper and imports become costlier
T TEAT AT ST FEI & ST &

Question 42.Which one of the following non-metals shows allotropy in the liquid state?

fAFATAET el W 3T AT TN AT F IUFIAT Fefdd FRATE ?



Options:

1) Carbon
FT

2) Sulphur
Heth

3) Phosphorous
HIERRE

4) Bromine

ST

Correct Answer: Sulphur
HohT

Candidate Answer: [ NOT ANSWERED ]

Question 43.Sectoral distribution of GDP index measures

SiLEL. FEeE & aaR [IavoT & fore 1 AT [ off Jear 82

Options:

1) Agriculture development of a country

&1 T FY daieh g

2) Economic development of a country

&R T 37T e

3) Social development of a country

ERT T ATAITSH TaHT

4) Socio-Economic development of a country

231 T FATToe a2 A e

Correct Answer: Economic development of a country

221 &1 3T fae

Candidate Answer: Socio-Economic development of a country

230 T FHATTST a2 3T e

Question 44.Ragini is a popular form of folk song belonging to the State of

R fore T Fr dentor afia el &2
Options:

1) Kashmir

FHR

2) Kerala

T

3) Haryana

gRamoT

4) Manipur

AR

S

Correct Answer: Haryana
gRamoT

Candidate Answer: Kerala
Il

Question 45.Which of the following border is known as Radcliffe line ?

A 7 Sl I DR EfFas 3@ gerdr § ?
Options:

1) India and China

HRT 4T el

2) India and Bangladesh

HR TUT FTTeGeT

3) India and Pakistan

AR TAT ITfehedTe

4) India and Afghanistan

HRA TUT Hhen el

Correct Answer: India and Pakistan
AR TUT IRl

Candidate Answer: India and Pakistan
HRT TUT ITfhEdTeT

Question 46.Deepika Kumari is associated with which of the following sports?

AT FART 7 Geer fe=tioid & ¥ g T q g ?



Options:

1) Archery
GECE

2) Gymnastics
Ffees

3) Badminton
ssfie

4) Athletics
TyfeEd

Correct Answer: Archery

GG

Candidate Answer: Archery

dRersir

Question 47.What does the term 'Ebola’ stand for?

"SEYeT" eg A ITT T HASTA § ?

Options:

1) A viral disease outbreak in West Africa

GieaY 3nhTeRT & Teh fawTop 9T FeRrT

2) A viral disease outbreak in Bangladesh

FiTeTeRr # Teh TNy 97 Fehia

3) A city in Syria destroyed by ISIS.

3TS.UH.3TS. U, EaRT AT 3T arar Bk &1 v 2
4) None of the these

FS & RFeT T AGTE

Correct Answer: A viral disease outbreak in West Africa
Gferalt 3nhieR & Teh fawTop AT JehiT

Candidate Answer: A viral disease outbreak in West Africa

GferalY 3nhieR & Teh fawTop T JehiT

Question 48.The virus of AIDS affects the growth of

T 1 T feheehr gfig i Teiae aear g ?
Options:

1) Haemoglobin

REECicC)

2) RBCs in blood

&d # RSN

3) T cells in blood

TFd H . HIRIHT

4) Grey cells in brain

ATETSH H I HIFAHT

Correct Answer: T cells in blood
T H <. PR

Candidate Answer: RBCs in blood
T H ARSI

Question 49.Which of the following is not a nitrogenous fetiliser?

AT 7 Fi AT 3 67 § ?

Options:

1) Ammonium sulphate
AT Tethe

2) Urea

R

3) Ammonium nitrate
AT AT

4) Superphospohate

R BIERS

Correct Answer: Superphospohate
R BIEhe

Candidate Answer: Urea

i

BN

Question 50.The absolute zero is a temperature at which

"R J19 & g R § e W



Options:

1) molecular motion in a gas would cease
It 7 3nfOaes aifa gest eerdT &

2) water freezes

STl FTHA oRIAT §

3) all gases become liquid

o A R grama §

4) all gases become solid

T3t I 3 & aRkafda grama &

Correct Answer: molecular motion in a gas would cease
At 7 3nfOae aifa geet eercdT &
Candidate Answer: water freezes

STl STHe SPTT §

Question 51.A can do a piece of work in 8 days and B can do it in 10 days seperately. How many days would it take for both A and B to finish the same work
together?

A T 1T 1 8 T 7 o FhalT § 3R B 3 1 T 10 T 3 X WahelT &1 IS A 3R B e 33 &1 &t st et 3 qur et ?
Options:

1)

33

8

3)
41

10

4)
42
11
Correct Answer:
40
9

Candidate Answer:
40
9

Question 52.The lengths of the diagonals of a rhombus are 8 cm and 6 cm. The area of rhombus is:

T FAAGHS & fawroll & oeargat 8 A TuT 6 WAk, §) TGSt T AT facleT g ?
Options:

1) 96 cm?

96 .701.2

2) 60 cm?

60 ¥.37.2

3) 48 cm?

48 @72

4) 24 cm?

24 9.2

Correct Answer: 24 cm?
24 Q.2

Candidate Answer: 24 cm?
24 Q.2

Question 53.Two successive discounts of 10% and 20% are equivalent to a single discount of

10% T 20% T &Y HHAIN B g Tl T & THAGe & ?
Options:

1) 28%

2) 27%

3) 25%

4) 30%

Correct Answer: 28%

Candidate Answer: 28%



Question 54.A and B together have Rs. 6300. If 5/19 of A's amount is equal to 2/5 of B's amount. The amount of 'B' is

A 3R B o I el [T Rs. 6300 &1 Ffe A &1 5/19 TRY B &I 2/5 TR o sR1a g1 Al B & 91 fehetall ARG ?
Options:

1) Rs. 2500

2) Rs. 3800

3) Rs.2300

4) Rs. 4000
Correct Answer: Rs. 2500
Candidate Answer: Rs. 2500

Question 55.If the selling price of 40 articles is equal to the cost price of 50 articles, the loss or gain percent is

i 40 T3 T fahT e 50 TEI3T o H Hed & SRR &Y AN Blfet AT o137 T FTALUT TATST ?
Options:

1) 25% gain

25% oI

2) 20% gain

20%7ITeT

3) 25% loss

25% gifer

4) 20% loss

20% gifer

Correct Answer: 25% gain
25% ey

Candidate Answer: 25% gain
25% ey

Question 56.A's income is 25% more than B's income. B's income is what percent of A's income?

A Fr TIB I 3T F 25% 3T &1 B T 3T A T 37 I fohdelr Ifard & ?
Options:

1) 80

2)75

3) 50

4) 25
Correct Answer: 80
Candidate Answer: 80

Question 57.In what time will a train, 60 metres long, running at the rate of 36 km/hr pass a telegraph post?

60 FeX TFET Tah YereMTEr 36 foR. 7Y, /5er I ATl & U ST o T I fohctel THT & IR Il ?
Options:

1) 9 seconds

9 d&UsH

2) 8 seconds

8 qpugd

3) 7 seconds

7 @husH

4) 6 seconds

6 TRUsH

Correct Answer: 6 seconds

6 Uz
Candidate Answer: 6 seconds

6 dhvsH

Question 58.If 5x + 1/x = 10, then x2 + 1/25x2is equal to

JE 5x + 1/x = 10 gAY x2 + 1/25x2 e s{IeR g1 ?



Options:
1)

1
2=
5

2)
3}
5

3)
SE
3
4)
23
5
Correct Answer:
SE
3

Candidate Answer:

3E
5
Question 59.
If4r=h+ 2 pZ thenr:his?
(rz0)
qﬁdr:hﬁ 1Jr2+h2§ﬁ?‘ﬁr:h
DT HIH 9dlstT ? (r£0)
Options:
1) 17:8
2)8:17
3) 8:15
4) 15:8

Correct Answer: 8:15
Candidate Answer: 8:15

Question 60.If sinA + sin? A = 1 then what is the value of cos?A + cos® A ?

g sinA + sin? A = 1 @ a cos?A + cos? A &I AT SdT8T ?

Options:
1)1

2)2
3) 12

4) Vs
Correct Answer: 1
Candidate Answer: 1

Question 61.Three angles of a quadrilateral are 60°,90°and 100°.Then the fourth angle of the quadrilateral is
forelt et & et 1o 600, 900 31X 1000 & ¥ | FATST TGS T =T ot et gram ?

Options:

1) 95°

2) 100°

3) 110°

4) 115°
Correct Answer: 110°

Candidate Answer: 110°



Question 62.Which one of the following is true for 0°<6<90°

0°<0<90° & forw Arfaf@a FaFT T8 ?

Options:
1)
cosf >cos @

2)
cosf <cos?@

3)
cos@ = cos?@

4)
cosf = cosl@

Correct Answer:
cos@ >cos? 6

Candidate Answer:
cosf >cosl@

Question 63.

3=9" 149231
The value of —————is equal to?
9x3 M"— 629"

2x Tt LgygInl ?‘?
93— g2 :

Options:
1)
3E
5

2)

3=
3

3)
3}
5
4)3
Correct Answer:
SE
5

Candidate Answer:
32
5

Question 64.If the average age of four children is 12 years and the average age of these children and their fathers is 20 years, what is the age of the father?

AT 4 It 1 3 3 12 a9 a7 31 gt IR 3oTes FdT v 3 31 20 a9 g ar far 3y et @ 2
Options:

1) 52 years

52 @y

2) 48 years

48 a§

3) 62 years

62 a¥

4) 54 years

54 q¥

Correct Answer: 52 years

529§

Candidate Answer: 52 years

5299

Question 65.If a+b=3 then the value of a3+b3+9ab-27 is

IfE a+b=3 g a¥ a3+b3+9ab-27 &I AT IRy ?



Options:
1) 24

2) 25
3)0

4) 27
Correct Answer: 0
Candidate Answer: 0

Question 66.If x+1/x = 2, then the value of x’+2/x is equal to?

FREx + 1/x = 2 81T« + 2/x8 &1 A=t aansit ?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 3
Candidate Answer: 3

Question 67.In AABC two medians BE and CF intersects at the point O and P,Q are the midpoints of BO and CO respectively. If the length of PQ=3cm, then the length
of FE will be

F83eT ABC # & \ey Y@ BE 3R CF fieg O W Aeel § ar BO 31 CO wr swaer: P 31k Q #ew g §1 afe PQ it oot 3 A3, &) A FE & oo o g 2
Options:

1)3cm

33

2)6cm

6 T3

3)9cm

9 I

4) 12 cm

12 3.7

Correct Answer: 3 cm
3 8.

Candidate Answer: [ NOT ANSWERED ]

Question 68.In a triangle PQR, S and T are the points on PQ and PR respectively, such that ST II QR and PS/SQ=3/5,PR =6cm, then PT is

PQR fegsT &, S 3iR T shwer: PQ 31X PR o & fiwg §1 ST 1IQR 31k PS/SQ=3/5, afe PR = 6 &7, &, af PT am g1am ?
Options:

1)2cm

237

2)2.25cm

2.25 &

3)3.5cm

3.5 3.4

4)4cm

4877

Correct Answer: 2.25 cm
2.25 §.A.

Candidate Answer: 3.5 cm
3.5 a0

Question 69.If 5 sin26+ 4cos? 6= 9/2 and 0 <B<M/2 then tand is equal to?

fE 5 sin20+ 4cos? 6 = 9/2 g 31X 0 <6<M/2 & AT tand e SET g ?

Options:
1)1

2)0
3)-1

4) Va
Correct Answer: 1
Candidate Answer: 1



Question 70.If Rs. 10000 amounts to Rs. 11664 invested in compound interest(compounded annually) for two years then the annual rate of compound interest is

Ifg Rs.10000 &1 U 2 A & Tehgfe sarer W (a1f¥isr &7 & GASIT ) Rs. 11664 81 S § af whhg e saret i arf¥ies &3 Famsve ?

Options:

1) 10%

2) 9%

3) 8%

4) 6%

Correct Answer: 8%
Candidate Answer: 8%

Question 71.From the top of a tower 60 mts high the angle of depression of the top and bottomof a pole are observed to be 45° and 60° respectively. If the pole and
tower stand on the same plane, the height of the pole in meters is

60 e S fFE AR F 2N oer A P e & MY 3R aoT & 3raeTHeT P07 HAT: 450 31K 600 @S ¢ &1 I @I 3N AR th TR W AT AR T @ ;&
3TS AT ?

Options:

1) 60(v3-1)

2) 20(V3-1)
3) 20(3-V3)

4) 20(v3+1)
Correct Answer: 20(3-V3)
Candidate Answer: [ NOT ANSWERED ]

Question 72.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

FrAfaf@d a1 = 31 el & garT el av Ay 7 fafesr Yemel ) @ &y a1$ Uiy arieh o1 &1 o1 e & sreaet Aifaw 3K wet F 3o RS |

Tennis

10%
10%
Others

124%
Basket ball

The ratio of the amount spent on football, basketball and cricket to that spent on tennis,hockey andgolf is

Fedla aeheatal 3R e & 30X ol 71w @ aar efor, g1 3R 2o o SR fond o @ 3171y Sams e ?

Options:
1)5:7

2)7:5
3) 15:1

4) 3:20
Correct Answer: 7:5
Candidate Answer: 7:5



Question 73.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

RrAfaf@d urg ard 7 el e gary Rl o Ay # faffieer Yempel o @ &y a18 iRy aefiely o1 81 uré =ré 1 3reaget AT 31 weal & ek RS |

Tennis
10%

10%
121:%

Basket ball

Others

Cricket
25%

If the total amount spent on sports during the year was Rs. 1,20,00,000 how muchwas spent on basketball

aﬁa’s‘ra?akﬁr@aagzqqﬁrm. 1,20,00,000 TR @< &Y 37$ Y Ihe diet IR foharell TR TxF 1 15 ?

Options:
1) Rs. 950000

2) Rs. 10,00,000
3) Rs. 12,00,000

4) Rs. 15,00,000
Correct Answer: Rs. 15,00,000
Candidate Answer: Rs. 15,00,000

Question 74.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

PrAfaf@d o =i #F el e garT el o Ay 7 et dompel o @ &y a1$ Uiy arfieft o1 81 ors =ne 1 sreaet Afaw 3R weat & ser B |

Tennis
10%

124:%
Basket ball

Cricket
25%

Total central angle showing the money spent on hockey,football and other during the year was

WWWW,WW@MW@WH#RW%?

Options:
1) 104°

2) 244°
3) 96°

4) 144°
Correct Answer: 144°
Candidate Answer: 144°



Question 75.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

RrAfaf@d urg =rd 7 el e gary Rl o Ry # faffieer Yermpel o @ &y a18 afky aefiefy a1 81 uré =ré 1 3reaget AT 3 weal & ek RS |

Tennis
10%

10%
121:%

Basket ball

Others

Cricket
25%

If the money spent on cricket during the year was Rs. 20,00,000, then the money spent on tennis was:

I ¥ & ERTeT Shehe IR Rs. 20,00,000 I @ 1 a1 A g ) v afr @ iy a1g 2

Options:
1) Rs. 8,00,000

2) Rs.10,00,000
3) Rs. 80,00,000

4) Rs. 40,00,000
Correct Answer: Rs. 8,00,000
Candidate Answer: Rs. 8,00,000

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

ADAPT

Options:

1) BRING UP

2) ADJUST

3) ENCOURAGE

4) SERVE

Correct Answer: ADJUST

Candidate Answer: ADJUST

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

ARID

Options:

1) DRY

2) FERTILE

3) BARREN

4) FALLOW

Correct Answer: FERTILE

Candidate Answer: FERTILE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Definite

2) Diffinite

3) Defenite

4) Difinite

Correct Answer: Definite

Candidate Answer: Definite

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Why you (A) / copying your homework (B) / from someone else? (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: C



Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

There is (A) / few time (B) / for preparation. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

All my hope (A) / were duped (B) / and I was plunged in deep sorrow. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Naresh made a fortune buying and selling used cars.
Options:

1) at

2) by

3)in

4) on

Correct Answer: by

Candidate Answer: in

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She has finished writing the article,
Options:

1) has she?

2) isn't it?

3) hasn't she?

4)is it?

Correct Answer: hasn't she?
Candidate Answer: hasn't she?

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

An animal species becomes
Options:

1) exist

2) existing

3) extinct

4) extract

Correct Answer: extinct

Candidate Answer: extinct

when its last existing member dies.

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Catch a tartar

Options:

1) To catch a dangerous person

2) To deal with a person who is more than one's match
3) To trap a wanted criminal with great difficulty

4) To live carefully and cautiously

Correct Answer: To deal with a person who is more than one's match
Candidate Answer: To live carefully and cautiously

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cap in hand



Options:

1) Defiant

2) Screaming

3) Well behaved

4) In a respectful manner

Correct Answer: In a respectful manner
Candidate Answer: In a respectful manner

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

In the blues

Options:

1) Cheerless and depressed

2) Violent and angry

3) Wearing blue badges

4) Singing sad songs

Correct Answer: Cheerless and depressed
Candidate Answer: Violent and angry

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A notice of a person's death
Options:

1) Memorandum

2) Obituary

3) Reminder

4) Rejoinder

Correct Answer: Obituary
Candidate Answer: Obituary

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An animal that lives in groups
Options:

1) Hoard

2) Fastidious

3) Gullible

4) Gregarious

Correct Answer: Gregarious
Candidate Answer: Hoard

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Hard working and diligent
Options:

1) Seditious

2) Sedate

3) Sedulous

4) Scheming

Correct Answer: Sedulous
Candidate Answer: Seditious

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

When in doubt check it up with a good dictionary.
Options:

1) check it up in

2) check it in

3) check it with

4) No improvement

Correct Answer: check it in

Candidate Answer: check it in

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

At the present rate of exchange, fourteen dozen cost Rs.3000.
Options:

1) dozen costs

2) dozens cost

3) dozens costs

4) No improvement

Correct Answer: No improvement

Candidate Answer: dozen costs



Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Can you believed this is the same old and the dilapidated house I had bought last year?

Options:

1) Can you not believe this is the same old and the dilapidated house that I buy last year?

2) Can you believe this is the same old and the same dilapidated house I have bought last year?

3) Can you believe this is the same old and dilapidated house I had bought last year?

4) No improvement

Correct Answer: Can you believe this is the same old and dilapidated house I had bought last year?

Candidate Answer: Can you believe this is the same old and dilapidated house I had bought last year?

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

If the sky is overcast, I take my umbrella with me.
Options:

1) When

2) Unless

3) Whenever

4) No improvement

Correct Answer: Whenever
Candidate Answer: Whenever

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The artist claims to have royal blood in his veins.
Options:

1) hand

2) head

3) forehead

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

We experience sleepiness in the morning because
Options:

1) we eat breakfast

2) we miss breakfast

3) efficiency goes down

4) we feel tired and sleepy

Correct Answer: we miss breakfast
Candidate Answer: we miss breakfast

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

We eat unhealthy food when
Options:

1) we suffer from hunger

2) we have become overweight
3) we have skipped the first meal
4) we love chips, burgers etc.



Correct Answer: we have skipped the first meal
Candidate Answer: we have skipped the first meal

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

A good breakfast

Options:

1) keeps you active

2) causes memory loss

3) boosts performance

4) keeps you active; boosts performance

Correct Answer: keeps you active; boosts performance
Candidate Answer: keeps you active; boosts performance

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

An ideal breakfast should contain

Options:

1) carbohydrates, proteins, fats, minerals and vitamins
2) some food groups

3) only high fibre and protein

4) foods of our choice

Correct Answer: carbohydrates, proteins, fats, minerals and vitamins
Candidate Answer: carbohydrates, proteins, fats, minerals and vitamins

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

Breakfast is satisfying when

Options:

1) itis rich in fatty foods

2) it contains high protein and fibre content

3) itis rich in carbohydrates, proteins and fats

4) we eat to our heart's content

Correct Answer: it contains high protein and fibre content

Candidate Answer: it is rich in carbohydrates, proteins and fats



